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Consider the following statements:

(a) An environmental study in a community shows that the
level of a certain pollutant in the air increases by 0.2 parts per
million for every 10 people added to the population.

(k) Census data for the community shows that the population of
the community is Increasing by 15 people per month.

(c) Therefore, the pollutant is increasing at a rate of 0.3 parts
per million per month.

If pollutant level is measured by the variable L in parts per
million {ppm), the popuolation is measured by the variable P
in heads (h), and time is measured by # in months (mon), then
interpret each of the statements above in Leibniz derivative no-
tation;
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If y = —7 (> +8x+6)’, then by the chain ule,
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If f{x) = {(x* + 22+ 312,

then f*(x} =
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(a) If

f =3V 40" = 3(%2+x-2) __
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then by the chain rule,
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(b) If
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then by the chain rule,
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Recall the square root rube: If y =/, theny = ——

N
By the chain rule, if ¥ = +/gx), then ¥ = EJIE(TJ -gx) =
o
2v/5(x)

Use this fact to find the derivative of v = v4x24+3x+7. (In
other words, try te use the square root rule instead of the power
mule.)

y =

. (1 pt) alfredLibrary AUC/chapterMesson¥chainSpetpz

Recall the reciprocal rule: If y= 1, theny¥ = ——.
X
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By the chain mle, f y = —, then ¥ = —— - g'{x) =
¢ ) gix) 2lxy* )
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Use this fact to find the derivative of y = 1 3 (In other

words, try to use the reciprecal rule instead of the_power mk.)
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